
19

24

12

25

1

27

10

11

20136 21278 32

33

22

29

15

23

5

4

14

14

16

16

31

34

31

28

18

26

3

17

PAG 1/2

MODELLO:

RICAMBI, DISEGNI ESPLOSI
2015

Via Fontanelle,6
36050

MONTEVIALE VI

LIEVITATORE L10 2015

11-08-2015



 7
1
0
 

 7
8
1
 

 980 

 7
4
0
 

 980 

DISTINTA MATERIALI

Num. 
articolo

Num. parte Descrizione Quantità

1 BAC001 BACINELLA 2/3 20H 1
2 CAL003 CALAMITA MAGNETICA 4
3 CAB057 CABLAGGIO ELETTRICO LIEVITATORE MECCANICO 1
4 COP100 COP COMANDI LIEVITATORI L8-L9-L10-L12 1

5 CRU504 CRUSCO INOX MECCANICO L10. L12 1

6 FON102 FONDO LIEVITATORE L10.L12 1

7 MAN100 MANOPOLA DIAMETRO FORNI/LIEVITATORI 1

8 MAN051 MANIGLIA FORNO BRAVO/PICCOLO 1
9 MAN051 MANIGLIA FORNO BRAVO/PICCOLO 1
10 MOR004 MORSETTO A PETTINE BIFILARE 1 BULONE 6-16 MMQ 1

11 OME002 OMEGA RINFORZO INFERIORE LIEVITATORE G|PRO 2
12 OME003 OMEGA RINFORZO SUPERIORE LIEVITATORE G|PRO 2
13 RES155 RESISTENZA 1400W/230V CERT. UL-CSA 1

14 SCO201/SCO202 SCORRIGRIGLIA A FILO L10/L12 4
15 SEG000 SEGNALATORE ROSSO 1
16 STA103 STAFFA SUPPORTO SCORRIGRIGLIA LATERALE GPRO 2

17 SUP204 SUPPORTO BACINELLA L10-L12 1
18 STA104 STAFFA CHIUSURA BACINELLA 3

19 STA107 STAFFA SUPPORTO CENTRALE SCORIGRIGLIE L10-L12 1
20 SUP200 SUPPORTO RESISTENZA  POSTERIORE L8. L9. L10. L12 1

21 SUP201 SUPPORTO RESISTENZA FRONTALE LIEVITATORI L8. L9. L10. L12 1
22 SUP205 SUPPORTO CENTRALE LIEVITATORE GPRO 1
23 TER022 TERMOSTATO COTTURA 30-90°C 1

24 TET102 TETTO LIEVITATORE L10-L12 1

25 INV102DX INVOLUCRO LIEVITATORE DESTRO L10.L12 1
26 INV102SX INVOLUCRO LIEVITATORE SINISTRO L10. L12 1
27 PAS000 PASSACAVO ELETTRICO 1

28 PIE008 PIEDINO CON DIAMETRO DI 48MM 4
29 PIA303 PIASTRINA DX SUPERIORE E SX INFERIORE LIEVITATORE LINEA PRO NEW 2
30 PIA302 PIASTRINA SX SUPERIORE E DX INFERIORE LIEVITATORE LINEA PRO NEW 2
31 LIE511-1 PERNO ROTAZIONE PORTA LIEVITATORI 4
32 STA106 STAFFA PORTA SILICONATA LIEVITATORE L10-L12 2
33 LIE528 VETRO PORTA SINISTRA LIEVITATORE LINEA PRO NEW 1
34 LIE531 VETRO PORTA DESTRA LIEVITATORE LINEA PRO NEW 1
35 - INSERTI M5 25
36 - VITI M3X10 2
37 - RIVETTI 4X10 46
38 - VITI M5X15 4
39 - VITI M5X10 21
40 - INSERTI M6 1
41 - INSERTI M10 4
42 - VITI AUTO F 4X10 13

Via Fontanelle,6
36050

MONTEVIALE VI

RICAMBI, DISEGNI ESPLOSI
2015

MODELLO:

PAG 2/2
LIEVITATORE L10 2015

11-08-2015


	Pagina 1
	Pagina 2

